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-I Circle the correct option

| d
—((x—-50B-x)=
dx
a 2x + 8 b —2x+8 c 2x — 8 d x+8
2 | . dy
if 3x +4y + 7 = 0.then T
a 3 b 4 c —4 a »
4 3 3 4
3 f(x)=cosx then f’(T[) =,
a 1 b 0 c -1 d 2
2
4| Order of the differential equation xd Zy + 2 _2x=0is ;
dx dx
a 1 b 2 c 3 d 4
5 | d(Cosx?)
dx _'
a 2x sin x? b —2x sin x? . 2cosx d —2sinx
6 d
7 (Vx)
a Vx b i c i d L
Vx 2x 24/x
7 The derivative of arc cosx is ;
a 1 b _ - c 1 d —-1
V1 — x? V1 + x? x?2—-1 Vx?
-I Write short answer of following question.
i Ify=\/§—%,Find %;
ii | Differentiate y = aV¥;
iii | Prove that% (cos hx) = sinhx
iv Find%ify = e %*sin2x
v Differential w.r.tx, Sin~ V1 — x2
vi | Findy, if y = In(x? —9)
. .o ay. 2 _
vii | Find i ifxy+y° =2

—-l Write detail answer of these questions. -

, d?y dy
— pX - —_— =
a. Ify = e*sinx, show that—~ 2 T 2y =0

vat+x+va—-x

Jarrvae 0

. ady.
b. Fmddxlfy—
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